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* Please check that this question paper contains 15 printed pages.

* Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

* Please check that this question paper contains 31 questions,

* Please write down the Serial Number of the question before attempting it.

* 15 minutes time has been allotted to read this question paper. The question paper

will be distributed at 10.15 a.m. From 10,15 a.m. to 10,30 a.m., the students will

read the question paper only and will not write any answer on the answer-book

during this period.
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(iv) SeTFeier 1w Al #
General Instructions »

(5 AN questions are compulsory.

(i) The guestion paper comsing of 31 questions divided into Sour
sections — A, B. Cand P

(iif) Seetion A contains 4 questions of I mark each, Section B coniaing
6 questions of 2 marks each, Section C contains 10 quesiions of 3
marks each and Section [} contains 11 questions of 4 marks eqch.

(iv) Use of calcwlators is not permitted.

wWE N
Section A

Hﬂﬁw:ﬁeiﬁwﬁmmﬁr:m%l

Question numbers 1 1o 4 carry 1 mark each,

L afg=_1
x Eﬁsm-rmm3.r=+zh—3=nanqmwﬁ.a‘:kﬂmmﬁaq|

1
If x=—, j i I
5 18 @ solution of the quadratic equation 3x* +2kx—3=0, find the

value of &,

31N Z
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. omEE g W w3 A =1 HtAr % fivee, 3% et =7 frem avh
& 7en-feig ™ w300 @ 60° % i =0l 1 - 3T Fif

The tops of two towers of height x and y, standing on level ground, subtend
angles of 30° and 60" respectively at the centre of the line Joining their feet, then
findx : . |

3. St avien Hﬂﬁﬁ#wqﬁmﬂmwmﬁmm%ﬁﬁm
TE W U = B |

A letter of English alphabet is chosen at random, Determine the probability that -
the chosen letter is a consonant.

4. amEf 1 F, Pﬁ.amFa,hmmﬁqﬂﬁ&sﬁm%@ﬂiﬁEMﬂD%.ﬁr
ZOAB F1 91 ferfim |

ATFT |

In Fig. 1, PA and PB are tangents to the circle with centre O such that
ZLAFB = 30°. Write the measure of Z0AB,

0/1/1
3 3 [P.T.O.
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Section B

T HEET 5 B 107 Ue s 99 & 2 afm 3

Question numbers 5 1o 10 carry 2 marks cach,

5, mﬁuzﬁ,m%omﬁwmmawmmﬁmawﬁﬁmﬂr ?
it ZATQ 3 #ifem |

In Fig. 2, AB is the diameter of a circle with centre O and AT is a tangent. If |
£A0Q =58°, find ZATQ. .

E |
0
Q .
AT
Figure 2 ‘

—

6. ﬁnﬁmnﬁmﬁrx%ﬁqﬁmiﬁﬁt{:
--fL'rl—‘1-.:.|"-"':4.*+I.f-rz‘i —b*) =0,

Solve the following quadratic equation for x :
dx° —dalx + (ot b=

3171 4

:
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7. hﬂmﬁﬁ%ﬁwﬁgrﬁ,@mmmww TQ =it w5 & | fiag
#ife % OT, TarEs PQ %1 w9 sofoarss 2|

From a point T outside a circle of centre O, tangents TP and T(Q) are drawn to the
circle. Prove that OT is the right bisector of line segment PQ.

8. HAWUF 6, 13, 20, -, 216 F1 W v7 7 |
Find the middle term of the A P, 6,13, 20, —, 215.

9. 3fE A(5,2), B2, ~2) W C(-2,¢) W et e o i 8 fred 2B - o000, a’r;
1 HA 7 Fifaw |

If A(5,2), B(2,-2) and C{-2,1) are the vertices of a right angled triangle with
£B = 907, then find the value of .

s 3 i
10, ﬁ@mmﬁﬁqﬁmﬁgr[?%]ﬁyﬁﬂ El—:'-]ﬁ‘!ﬂ' B(2.-5) =t fawma

Al tarEz F i w2
3 5
Find the ratio in which the point P [4 l" divides the line segment Joining the
pmmsﬂ.f! 3 and B(2,-5
—.— | an
iy )
WTH
Section C

WHEE 1] F 20T T T E 3 s |

Question numbers 11 to 20 carry 3 marks each.

11, ﬁﬁgﬁmﬂwmmﬁﬁqﬁaﬁml,4}tamaﬂﬁmaﬁm
Y= & qen-fag (2, -1) 7 (0, -1) # |

Find the area of the triangle ABC with A(l, -4} and mid-points of sides through
A being (2, ~1) and (0, -1).

311 5 [P.T.O
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12, & 7% TR A W i, Fred e e e ot +1=2(k = 1jx+ x2 =0
o 5T WA F | 31 W % g oft T il

Find that non-zero wvalue of & for which the quadratic  eguation
ke +1-2k=1)x+x* =0 has equal roots. Hence find the roots of the

equation.

13. TF AR % urefig & vF v ¥ fran w1 gmea w300} of v & wefig @
AR F e # 3w F 450 3 ) af 9Ew 30 @ S0 A, 9 v # S wm
Hifarm, |

The angle of elevation of the top of a building from the foot of the tower is 30°
and the angle of elevation of the top of the tower from the foot of the building is
45%, If the tower is 30 m high, find the height of the building,

14. 3 i T 2t v w3 R wiw e S
(i) =l T AT SiEE T s 6
(ii) = ot T 3T e ww E

Two different dice are rolled together. Find the probability of getting
(1)  the sum of numbers on two dice to be 5.

(1} even numbers on both dice.

15. IR S, OF T 4 F wwm 0 & F 0 F = = R, @ s S
If 8, denotes the sum of first » terms of an AP, prove that Si2 =3(8; - 5,).

311 &
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16, 3TFfd 38, AD = OB 7wy APB F91 AQO 1w B | af s 7wt 40 20
2l sEifE ¥r w1 dawe 3 i) [n::EE E”Jﬁ!"{}

Q

FTFEA 3

In Fig. 3, APB and AQOQ are semicircles, and AQ = OB. If the perimeter of the

figure is 40 cm, find the area of the shaded region. [Use n= E]
E
Q

L

Figure 3

30/1/1 7 [B.T.0
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17, a4 9, 12 51 S 3 v 3w i, Formss omam & e 6 @9t 2, 3 ot am
B, FT % B T T 4 At dd aen g s f ) 9 = 3 e

JEF Ee T I | [1::%5 A I:z_zzﬁﬁﬁﬁm]

In Fig. 4, from the top of a solid cone of height 12 em and base radius 6 cm, a
cone of height 4 cm is removed by a plane parallel to the base. Find the total

_ L o 22
surface arca of the remaining solid. | Usea = = and 5 =2.236

i

0 cm—*

Figure 4

311 B
|
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18, TF 3 e = e, ok i e T S WS AR R
: 5

i = T 5 5 inft & 7 3a faeld w = A T 15-.5E e Eo il

E:ﬁﬁﬁﬁdmﬁﬁquhﬁ%wﬂmﬁ@uaﬁﬁ{ 10 wia =0 E

£ = B T Fa e o I e ]ms%ﬂﬁq]

A solid wooden toy is in the form of a hemisphere surmounted by a .':Dnﬁ of 5;@&
radius. The radius of hemisphere is 3.5 cm and the total wood used in the making

of toy is 1E|EpE crit. Find the height of the toy. Also, find the cost of painting the
6

e
hemispherical part of the toy at the rate of ¥ 10 per cm”, [L-se %= =

19, Hﬁﬁﬁﬁ,mﬂ#ﬁﬁﬂﬂmﬁmm,ﬁﬂﬁﬁﬁﬁlﬁﬁxmﬁﬂﬁﬁ
g4 Tﬁmmmﬁaﬁmﬂéﬁmaﬂﬁmﬁﬁmwmﬁaﬁﬁmmﬁ

22
q@mmmﬁm|[x=7wﬁﬂ

- |

] [P.T.O.
311'.] |'1
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In Fig. 5, from a cuboida] sohd metallic block, of dimensions

13em = 10em = 5 ¢em, g cylindrical hole of diameter 7 cm is drilled out, Find

the surface area of the remaining hlock. -r Usen= E-|

| 7

Figure 5

20. w%ﬁﬁ,w&aéammmﬁhi [z = 3,14 wifim

i b1

30/1/1

10
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In Fig. 6, find the area of the shaded region [Use m = 3.14]

L g

Figure &

WEE
Section I

THEE 21 W 3] U U R 4 s

Question numbers 21 to 31 carry 4 marks each,

2. v B o I w E w0 | ot 5w st Aw m A 2 wirer = 1 7 fim
g1 g fom = am %ﬁl@ﬁamﬁﬁqr

The numerator of & fraction is 3 less than its denominator. If 2 is added to both
the numerator and the denominator, then the sum of the new fraction and original

= o 79
fraction is 20" Find the original fraction.

30/1/1 1 [P.T.O,
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22 mﬁm#:zm%mmﬂﬂﬁﬁﬁﬁﬁﬁ%ﬁmzﬂmaﬁ
AT 8 | 39 Tu gAE E 7 100 %t == 1 sftt et wfa wme w099 7 20 T
@lﬁ%ﬁﬂlzm#ﬁﬁmaﬁm%ﬁaﬁqﬁﬂaw|

T @ N S R 7

Ramkali required ¥ 2500 afier 12 weeks to send her daughter to school. She
saved T 100 in the first week and increased her weekly saving by ¥ 20 every
week, Find whether she will he able to send her daughter to schaol after 12
weeks,

What value is generated in the above situation?

23, % fom em Sifem
2 3 23
+ == -
x+1 2{x-2) 5:-:11;”:" v
Solve forx ;
2 3 3
+ —EJ. x#=0-12

x+1 2x-2) _fT.;
2. %%ﬁﬁ%ﬁmﬁgmﬁﬁwﬂmmﬁg#maﬁﬁﬁmmﬁﬂ
L 4

Prove that the tangent at any point of a circle is perpendicular to the radius
through the point of contact.

30141 12
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28, mﬁ:ﬁ,nmﬂ@mmﬁgpﬁawmpqmmmm'ﬁ
n{ﬁﬁsmqawtm‘ramsmﬂ’tmmaamﬁfﬁmmsm
#ifaw |

.

30°

Q
S T
In Fig. 7, tangents PO and PR are drawn from an external point P to a circle with

centre O, such that ZRPQ =30°. A chord RS is drawn parallel to the tangent PQ.
Find £ROQS5.

}

Figure 7
26. T B ABC # e i fmd BC - 78, /B = 60° 741 AB = 6 ¥ 21
- 3
e 37 Fivg ) v T free qed A ABC 1 FH qAi ;ﬂmﬁn

Construct a triangle ABC with BC =7 cm, #B = 60° and AB = 6 cm. Construct

another triangle whose sides are % times the corresponding sides of & ABC.

30141 13 _ [P.T.O.
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27. @%ﬁﬁﬁ?%mmmﬂéﬁﬁmmmaﬁm 30° & w1 M T A 0F
m%ﬁmwmﬁmm*%mﬁm-ﬁm 5 71 3 1 Tim 1 FET
e R |

From a point P on the ground the angle of elevation of the top of a tower is 30°
and that of the top of a flag staff fixed on the top of the tower, is 60°, If the
length of the flag stafl is 5 m, find the height of the tower.

18. ﬁaﬂﬁzuzﬁémmmlﬁzuﬁﬂﬁmﬁﬁﬁﬁhmﬁﬁﬁﬁﬂ
ﬂ@ﬁmﬁmwwﬂmmﬁrﬁﬁﬁﬁmﬁmﬂﬂ%m
() 297 3@ W E
(i) T S T

A hox containg 20 cards numbered from 1 to 20. A card 15 drawn at random from
the hox. Find the probability that the number on the drawn card is

(i) divisible by 2 or 3

(i) a prime number

30, 72 A4, 8), B(=3, ), C(0, -5) T D(5, 6) T = ABCD % i 8 wt S
%1 Bkt 3T |
If A(—4, 8), B(=3, —4), C(D, =5) and DX(5, 6) are the vertices of a quadrilateral
ABCD, find its area.

30, 14 i TED T dﬁmﬂﬁﬁaﬁ@mWIEﬁﬁﬁﬁﬁﬁﬂﬂﬁﬂiﬁﬁiqﬂﬁn
mﬁawﬂﬁmmﬁmﬁﬁﬁﬁﬂnﬁlﬂ%{aﬁHMmﬂm!

A well of diameter 4 m is dug 14 m deep. The earth taken out is spread evenly
all around the well to form a 40 ¢m high embankment. Find the width of the
embankment.

31 14
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31, 1.szﬁﬁnﬁﬂﬂnﬁﬁﬂﬁﬁmﬁmﬁﬁﬂaﬁmimﬁmmil
o % ¥ sman 5 e 40 B & e g w2 F g o A 3.5 e S
#3199 =1 TR ER S T R |
Water is flowing at the rate of 2.52 km'h through a cylindrical pipe into a

cylindrical tank, the radius of whose base is 40 cm, If the increase in the level
of water in the tank, in half an hour is 3.13 m, find the internal diameter of the

pIF'E-'.

LI B 15
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